A f(x) = —46 + ko + 17F Q3] x— 12 Wiro] Ho] A2 =
A% k0] ghe Fatolat,

fx)=-4x3+kx+1=(x-1)Q(x)
fl)=-41k+1=0
k=3

=~




oA 23 +5x2 —kx—k 7t x—1 2 Yiro] GojA &
Satolat

> E!
>

0

=T

QA gof] oAl x =1 & thYstaA
1B4+5x12—kx1-k=0
k=3




BHaxl+bx—4= x-22 Uro] o1 x+ 12 U xH U7}
6oltt. a- b & Fotofet.

Ch "
H -

>
I> HMekr 11

oH .

I
£
+ +
_|_

a0
I =
o |
o
L
-]
D




4 x—- 12 UHrH U2 = —40]0, I & x+22
FH YUz 20|t} oluf, f(x)E x+ 22 ‘)rE o] Y&
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xO tiE ohaFA] 3+ ax? — x4+ b2 x—3 2 RS o B3 Ue 2=
ot 22 YA OR oL St a+ b+ c+d+ k9] HE
=23

@ 19 @ 20 @ 21 @ 22 @23

T 3 4 ax® —x+ b2 x- 32 U S mo] &3 YRS
ZHAYE o]-gsto] Fohd ohZt 2ot
1 a -1 b

3 3a+9 9a + 24

1 a+3 3a+8 | 9%+b+24

ol k=3,c=3,a+3=43a+9=d,9a+b+24 =37
olmg

k=3,c=3,a=1,d=12,b=14

ot g+ b+c+d+k=1+4+3+12+3=23




